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Theorem 3.3. If g(x) is continuous and g(x) > 0 for all x > A and if [77 rq(z)dr < oo,
then for any solution of 4" + qy = 0 there is a constant h'}.z.!r-h r,ir.!t
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fand in parficular, no solution of " + gy = 0 is oscillatory).

roysh

Proo ,
> @-Z/o (3\/5 bl any o %@
:7 ﬁL‘ S‘{ For f“;/‘/cltﬁ7l\7 (j& X,

Yx) S Ly

Z L
ML)-1) >fy// *jéorj < S L2Xq —0O
So y/(x) 1§ A (fu/Ld ,qu(/(m .-
The vest 5 L Hepsd -

Cuwy L horve Q/W] U/(I) — O ’Z

fm 2L = o

4>0
/
97 I Fay=o

J
XA(z ) o2
A
/
4 o0
, J
e j I Lr\J; in i 170 PR T/ I

12-267 Page 1




J

/
1€ l B ﬁf/é} o ﬂ/oéén’/j o
N Fom o FALSE For yex
) IRECR MLV Sk
51) Vi I

\//:/O\M\/ So Vs J@C/“QUL

s
Lz =k
243 -
/ //_ | /‘____,D_ = - L’ +
r-3 ) = (ls) T L =

Jg/ ve = ¥'réy



